3.7 - Distributive Property
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1. Which expression shows —3(x + 5) expanded?

A) =3x+ 15
B) —3x+5
C) -3x—8

@—3x —15

2. Expand using the distributive property

a)4(x+2)

=Yyrg

d)-8(2 - d)

= - 16439

2, Expand

a)y(y —4)
o
gt \3 -(.{\3

d) q(—4q +8)

A

4. Expand
a) 2b(3b - 5)
= G- 10k

Y 2x(—4x +3)
B L YA

b) 5(k — 3) c)—-2(y+1)

T Ok-14 = dy-Q
e) 5(2t - 3) f)-(4y —5)

> 10k -1\5 - 'q‘ijrD
b) r(r +5) c)x(2x —5)

%y S AL
e)z(—3z+2) fym(—m—-5)

9
=32 40 = - _5m)
b) —4w(3w — 1)
= -\'&w’a‘-ﬂ{\,\/

d) (4k + 7)(—3k)
S \&\K&- AR



5. Expand using distributive property

a)(n—5) x4

={n-20

c) (7 + ¢)(3¢c)

- ¢ 4—%(,9‘

6. Expand
a) 2(a* + 5a + 3)

- 20> +V0a%

c) =5y(3y? =7y = 2)

= =5 %3 _\,?)631 +\O\j

7. Expand and Simplify

a) 3(x +2) + 4(x - 5)
=32« 634w -0
s -\y

c) 2(u+v) — 3(u—7v)
= dusrdy-B3u+3y
ERVEJSIV

b) (7m + 6)(—4)

= 3% m - Y

d) (4k + 7)(=3k)

T 1\%

b) 4x(x% + x — 3)

= U3 iy* o\ 3y

d) (2y* + 3y — 1)(4y)

- ‘0\5"+ \'3&6’& -%3

b) —4(y +1) + 2(2y — 3)

«({3-@{ *“(\3- 6

-\O

(4%

(A

d)4(w—-2)-22w+7)
- L(\/\) ’% -Yw “\L'
z -k



8. Expand and Simplify

a) 3[x + 2(x — 4)] b) 3[2k — (2 + k)] c) 2[-h—2(h—1)]
= > (’t‘;&’x-%‘) = 3(&\(-'&,\(} - a\(v \P\_’ R\/\*aﬁ
3 (3%-9) =3(k-2) 2 2(-3Wa3)
:%/x -'a(_{ ~ k-6 - ‘Q\/H-(/(
9. A garden has dimensions as shown: Ax+1
T
a) Write a simplified expression to represent the perimeter. [: - @ 1.3 -;
P :QCE'X*“-\&(Q | 8% ® - 2x
) & & o
= é—x*& *Lb[ 450 ) O Y ) LA () s (2
2 0x +"
b) Write a simplified expression for the area.
A= (R'X)(S‘wﬂ)
= Cé/)(14 D\’}é
10. Expand and simplify
a)3(y—2)—2(4-2y)+(6—7y) b) 4k(k —3) — 2(k? — 3k + 4) — (k* = 5)
‘%3“"%*"3*6‘73 = I R k- B oK g,
N
< -4 = k™- ¢k =2
)z (3a+2)+(4a—-2) d) > (x — 2y) + 3 (3y — 2x)
Y2 Fpe ~
T3 :%~3+\3-9\2§_
- ao\ +% -’% 3
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